Originele Motor-Mover Achterwiel
1x | Wielsteun Links

1x | Wielsteun Rechts

6x | Bout M8x20

1x | Plaat voorwiel rechts
Plaat voorwiel links
6x | Veerring M8

6x | Moer M8

1x | Koker achter

2x | Bout M10x16

10 | 1x | Koker voor

11 | 2x | Bout imbus M10x35
12 | 1x | Oprijplaat

13 | 2x | Sluitring M8

14 | 2x | Moer zelfborgend M8
15 | 2x | Afdekdop

16 | 2x | Bout imbus M10x25
17 | 2x | Bout imbus M10x40
18 | 4x | Zwenkwiel geremd
19 | 4x | Veerring M10

20 | 4x | Moer M10

21 | 4x | Insteekdop klein

22 | 2x | Insteekdop groot

O INOC O~ |WIN =
—_—
X

Art.no:

www.OrigineleMotorMoverVoorDeMotor.nl | 100045




